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Converting from Scientific Notation Name:
Rewrite each problem in standard form. Answers
1) 16x10
1.
2) 94x10°
2.
3) g2x10t
3.
4) 518x 107
4,
0
5 17x10
5.
6) 175x 107
6.
7) 252052595 x 10°
7.
8) 352x10°
8.
0
9) 55051 x 10
9.
10) gx 10’
10.
11) 6.05780326 x 10°
11.
12) 411 x 10
12.
13) 9.91 x 10
13.
14) 334531427 x 10°
14.
15) 392 x 10
15.
16) 2x 10°
16.
17) 85309 x 10
17.
18) 55x 10!
18.
19) 47364303 x 10°
19.
20) .49 x 10"
20.
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ﬂh Converting from Scientific Notation Name: Answer Key

Rewrite each problem in standard form. Answers
1) 16x10 . 16
2) 94x10° , 9,400
3 g2x10 , 82
4 518x 10" 4 0.518
5 17x10 . 17
6) 175x10? 6 0.175

7 x 10°
) 252052595 x 10 ;- 2520,525.95

8) 3.52 x 104 8 35.200
9) 55051 x 10° ; 5 5051
10) gx 10’ . 3
10.

11 % 10°
) 6.05780326 x 10 11 6,057.80326

12 2
) 4.11x10 12 411

13 2
) 9.91 x 10 13, 991

14 5
) 3.34531427 x 10 o 334531427

15) 3.92 x 10

1. 392
16) 5 10
) 2x10 16, 200,000
17) 85309 x 10 17 85.309
18) 55x 10t 55
18.

19 x 107
) 4.7364303 x 10 0. 47,364,303

20 1
) 6.49x 10 20, 64.9
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